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B4 FIAEEK BIRFER B2R AR RPN BARFER
B == TEREW | AREHR | SREN | AEER | IBREWR | 58ER | IBREK | A8EK
AT (KRERERE) 1,321 733 588 1,233 492 449 279 222 166 157 78
CITEl (KERE -BEE0HDHERE LR 7 4 3 5 1 1 1 1 1 - -
D @it (KZERE) 25 11 14 25 4 4 2 2 1 0 0
FER (KERE) 13 11 2 13 7 6 6 5 5 4 3
HEZEE (KEEE) 14 7 7 14 11 9 6 4 4 4 3
J B (KERE) 8 8 0 8 4 4 3 3 3 3 2
L BEER (KEREE) 28 9 19 27 11 10 5 5 3 3 1
NREL (KRERE) 18 2 16 16 12 11 11 11 11 10 7
O RBEL (EAZERE) 3 0 3 3 1 1 1 0 0 - -
QRELT (KRERERE) 36 3 33 36 22 21 15 14 14 12 7
S RiEED (KEEZE) 23 1 22 23 15 15 10 10 10 10 4
Bl 1,496 789 707 1,403 580 531 339 277 218 203 105
BT FIAE BIREER B2R AR CRY e BARAER
B B TRREW | ABEHN | REY | ABENR | XREWN | aKEYN | IREHN | Aa8ER
BATEN (RZARRE - RERERA) 172 130 42 172 34 32 21 18 14 14 3
E#damu (RERE - BRBRERA) 8 4 4 8 3 3 2 2 2 2 2
G AR (KRERE - BBRERA) 6 6 0 6 6 5 5 5 5 4 2
| BE (KRERE - BRERA) 5 4 1 5 2 2 2 2 2 2 2
K #i (REFREE - BRERRB) 4 4 0 4 2 2 0 - - - -
M EEER (KERE - BBRERA) 6 1 5 6 2 2 1 1 0 - -
PRELT (RERERE - BEREKRA) 13 4 9 13 4 4 3 2 2 2 0
RREL (KFEE - BERERB) 19 2 17 19 2 2 1 1 0 - -
T {REET (KZFRRE - BRERERA) 1 0 1 1 0 - - - - _ B
=t 234 155 79 234 55 52 35 31 25 24 9
(9B E&EH]
s FIAE B1IREER B2R AR CRY N
VBRI 73 = — IR E———— TS Ea———— "
B =2 TRREW | AKER | SRER | ABENR | SRER | AKEK
VAT (SFRE) 33 15 18 30 21 21 9 9 3
WATEL (KRZRE - BE0OH D HEIRE LR 8 6 2 7 1 1
X E£FRE (BFE2E) 62 62 0 60 43 43 27 26 18
Bl 103 83 20 97 65 65 37 36 22
(128 E&£45])
. FIAEE BIRFER F2R AR RPN
AERX 5 - — I R —— I E———— "
B 5 TERREW | AEER | SREN | AREN | IREHR | AKEK
Z T (REFREE) 70 53 17 67 39 38 26 25 15
b+ (KFERE) 0 0 - - - - - -
e IRIEED (KZERE) 0 - - - - - -
=t 70 53 17 67 39 38 26 25 15
BRI FIAEEK BIRFER B2R AR B3R FER
B =2 TRREW | AKER | SREL | AREN | IREHR | AKEK
a T (REREE - BBREEA) 43 25 18 43 25 22 17 17 16
c AR (KREFERE - BERERA) 1 1 0 1 1 1 1 1 1
dREL (KREREE - BBRERA) 5 0 5 5 2 2 2 2 2
f REEET (RZTRE - RERERA) 1 0 1 1 1 1 1 1 0
g BEEN (KRERE - BRBRERA) 5 0 5 5 3 3 3 3 1
h BEHE (KFRE - BEBREXRA) 2 0 2 2 2 2 2 2 1
=t 57 26 31 57 34 31 26 26 21




